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CGPI Pl Module

CATNUM

Sample category

16. AMI - Outpatient visit
36. SCI Dx

48. Female, age 20-69
50. Random Sample

51. Random Sample MH
54. Frail/Elderly 50
60. DM Outpatient
61. Inpatient SC

50, 54

EXCLUDED

NOT =1

16, 48, 51, 60

NOT =1

68. Contract CBOC

OTHRCARE (Validation)

Is there evidence in the medical record that within the past
two years, the patient refused VHA Primary Care and is
receiving ONLY his/her primary care in a non-VHA setting?
1. yes

2.no

REVSTAT
REVIEW STATUS (not abstracted)
0. Abstraction has not begun

FEFLAG (rcvd on pull list)
FE case flagged for CGPI
review / scoring?
0. No

1. Yes

1. Abstraction in progress SEX (rcvd on

2. Abstraction completed w/o errors

3. TVG failure (exclusion) 1. male
4. Record contains missing required answers | |2. female
5. Administrative exclusion from all measures | | 3. unknown

Patient's gender

pull list)

DOCHOSPCE (Pl module)

Is one of the following documented in the medical record?

-- The patient is enrolled in a VHA or community-based
Hospice program

-- The patient has a diagnosis of cancer of the liver,
pancreas, or esophagus

-- On the problem list it is documented the patient’s life
expectancy is less than 6 months?

1. Yes

2. No

AGE (Calculated field)
NEXUS clinic vist dt - patient date of birth

TESTPAP (PI)

Does the medical record contain the report of a Pap test

performed for this patient within the past five years?

1. Pap test performed by VHA

3. Pap test performed by private sector provider

6. Hysterectomy (with no residual cervix) or congenital
absence of a cervix

7. All Pap test reports within the past five years note sample
was inadequate or that "no cervical cells were present”

98. Patient refused all Pap tests

99. No documentation Pap test performed

MDE Missing

>= 30 and <= 64

1,3,98,99

MDE = Missing or
Invalid Data Exclusion
(data error)
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* This measure is written as “Past three years:
During the period starting the 1st day of the 36th
month prior to study interval beginning date
extending to last day of the month under study”
so do not use the standard one month = 30
days rule.

HPVTEST (PI)

During the timeframe from (computer to

display papdt — 4 days to papdt + 4 days),

does the medical record document a

cervical human papillomavirus (HPV) test

was performed for this patient?

1. HPV test performed by VHA

3. HPV test performed by private sector
provider

99. No documentation HPV test performed

HPVTSTDT (Pl)
Enter the date of the most recent cervical
HPV test performed.

NOCASCRN (PI)

During the past five years, did the patient’s

primary care physician/APN/PA document

that he/she does not believe that this patient
will experience a net-benefit from cancer
screening, because of one or both of the
following:

-- Patient’s life expectancy is < 5 years
because of diagnoses or clinical factors (as
specified in the progress note)

-- Patient could not tolerate the further work-
up or treatment (if the screen was positive)
because of co-morbidities (as specified in
the progress note)

1. Yes

2. No

EXCLUDED 1

PAPDT (PI)

Enter the collection date of the most
recent Pap test performed during the
past five years.

99

Missing
or
Invalid

Missing or

MDE Invalid

STDYBEG (rcvd on pull list)
Study Interval begin date

TESTPAP

PAPDT

Valid Date

Valid Date

98

<= 36
Months*

PASS

Calculate
STDYBEG - PAPDT

> 60
months*

99

A

NOCASCRN

MDE

Missing

> 36 and <= 60 months

1,3

Valid Date

Missing

Missing
or Invalid

n Denominator and
Numerator
(passes indicator)

>= -4
and <= 4—

Calculate
PAPDT - HPVTSTDT

<-4
[ or>4

In Denominator only
(fails indicator)
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